R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-610 Therma-Tru Flush GLZ\Drawings\2019 REV\TX-4204-05.dwg, TX-4205

POWERED Bvl!
il

ENDURA.

DOOR COMPONENTS MADE IN THE USA

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2018
International Residential Code (IRC), Sections R301 & R609 and the 2018
International Building Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal fo or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this

drawing.
4. Conditions not covered by this drawing are subject to further engineering
analysis,
TABLE OF CONTENTS
SHEET# | DESCRIPTION
1 Typical elevations, design pressures & general notes
2 Astragal details (Ultimate Flip Lever)
3 Astragal details (Ulfimate Multipoint}
4 Astragal details (Ultimate Humicane)
5 Door panel details {flush glazing)
6 Horizontal & vertical cross sections
7 Vertical cross sections
8 Frame anchoring

74.44" MAX. FRAME WIDTH

97.94" MAX. O.A. FRAME HEIGHT (INSWING)
97.125" MAX. O.A. FRAME HEIGHT (OUTSWING)

XX

INSWING

+40.0

-50.0

A0
SO Ty
o «*EDE & 4,
';":‘,‘,\’%)"..u: = I, 3& (‘7
e let  1ZE T
s 400 Fi g k
‘gr\:f i b_; S
Gul ol (0 i
Eof%é& i3
‘?‘w"., - s
1’2&"‘-.,32 ::_ .'Q((
Qg xiZ i e
Vrans o
2ahb s

+35.0

-40.0

OUTSWING

+40.0

-45.0

+35.0

-35.0

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.

Documents Prepared By

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Valrico FlL. 33595
CERTIFICATE OF REGISTRATION # F—11852

Phone No.:

2]
=
o2
82
=
5y
<
o o ¥Y
IR
S g
L Lu(/)
bkl
I X
‘e
S %{3
o
O D:
x Q.
o
o[ Telefe
b} I o | ] o

UPDATE TO 2018 IBC/IRC CODE

REVISIONS

11/18/19|ADD "FusionFrame” OPTION &

9/05/18 |ADDED ADDITIONAL THRESHOLDS

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS| PART OR ASSEMBLY:

1/07/14 |ADDED ARTICULATING SILL

4

3

~N

1

NO| DATE

oate: 8/07/12

SCALE:

N.T.S.

DWG. BY:

JK

CHK. BY:

LFS

DRAWING NO.:
TX—4205

SHEET

1

oF 8

@ 2012 R.W. BUILDINGG CONSLILTANTS INC,



CON| BANVLINGENOD BNIGTUNg ‘Mm'™ 2102 @)

oo haddrseay o Ao (33 dng ) g S — - 0 0

‘seacla i S41 TS ONIVINOILYY a3aav| ¥1/20/1 | |
L616°659°CL8 "ON @uoyd :

GBSEC M4 OSMIDA 0SZ X0F ‘O°d \N\w@« "ATBWISSY 0 1avd [ S47]38N1dY0 NI IVOVYISY MIN aav| 51/5/S | ¢

‘ONI *SINVLINSNOD SNIaINg S47| SAIOHS3yHL TYNOLLIQY d3dav|81/c0/6 | €

3000 2¥1/081 810Z 0L 31vadn

SZTILYOLF 'I'd SVXIL Y&NAN3 S47 % NOIL sLuDIjuolsn
‘T'd WPIWYDS 4 UOPUAT  :hg peupdesd sjusWINDO( 1oNa0Yd. d0 . duotsnd, davi6L/8L/LL| v

JK
LFS

or 8

N.T.S.

TX—4205
2

DATE: 8/07/12

SCALE

DWG. BY:
CHK. BY:
DRAWING NO.:
SHEET

DEADBOLT STRIKE

PLATE
LATCH STRIKE

PLATE

0

T

7

-
i

LATCH & DEADBOLT DETAIL

#8X 2-1/2' PFHWS ——— |

#8X2-1/2" PFH WS

1.75"

HARDWARE LOCATIONS

ANCHOR SCREW LOCATIONS

S
LD
ASTRAGAL SECTION

0.063"

:m.@.N h

UPPER/LOWER BOLT
ACTUATOR LEVER {ZINC)

{REINF. POLYMER)

M
t
e
7]
=
O
&
[2°4
i
Q.
Q.
D

{TRIM COVER REMOVED)

(2) #8 X 1-5/8" PFH

WOOD SCREWS
LOWER BOLT SLEEVE
(ALUMINUM)

WOOD SCREWS

(2) #8 X 1-5/8" PFH
ULTIMATE FLIP LEVER ASTRAGAL

. ALUMINUM BODY

72 BMP'S0-F0Zy-XL\3Y 6107\SBUMBIQ\ZTO Usi Ni)-ewIdYL 0L9-Y¥d - IQL\SU] J0 3daQ sexa - \LNINVINYId RINPUTASIUBIDNY



‘ON| SANVLINSNGG aNIaiung ‘m'y 2102 @
ZS8LL—4 # NOUVAHLSIOSH 40 ILVOLILLYNIO SNOISIATY i
SHIINIONT TWNOISSZA0Hd 40 QuvodE SVX3L Cz_mﬁﬂq\&m:.ﬁ*%&ﬁzm@qi A9 ALvad [ONl«y| " 8_
S41 TS ONUYINOLYY a3dav| vi1/c0/1 | L lojwixii’| 8
L616°6G9'CL8 "ON euoyd NP3l s
G6SEE 14 OOMIDA 0EZ X08 ‘0°d § ” A1BNISSY MO 1¥vd | 531 | 3unidvo Nid T¥OvalISY M3IN dQv| 61/5/5 [ 2 | = BN RS
*ONI *SINVIINSNOD ONIaUNE \g. M sS4 SUIOHS3YHL TVWNOILIQQY Q3dav| 8L/s0/6 | € U B g | 3*
3000 _2d1/2dl 8102 Ol 31v4dn w0 ARJERS
SZIYOL# ‘I'd Svxal VH4NAN3 S41 ® _NOUJO woLjuosni, gavier/ei/iil v || |a |y |3 b
q'd IPIWYDS 4 UOPUAT :Ag pedpndeld sjULWINDOQ 110NA0YHd SI121E|1518 5
jau)
YTV YTV V) A
WOLLO9 . =
..O. (7]
~ T
o=
, S&
x ¥ 5 \ h
%% . «.h. 2 >
¢ “ Ol rd O =i
€y 00, g ~
R G 5| =
35& 30 D™ 2 3 Q
T 3 |+w =
gl _, S
R &0 3
— > R
nle!
i 3
8 5
[} w
= =
5 =
~§ a
i &
g =
QO o~
© & <
o @
3t
% - | :@N.— -
— s
i 2 £
R 2 Z * ﬁ O
o < @) 2
S g * S|
. D
= S S i =
w L - 3 <
O %4 Q
A M o
[2'4
O &)
[2°4
5 <
> s
<
59T
S w
b © 2
N 2 D
= Q 0 Q
.*v w0 c O A
N N S 18]
S Yy S a Zz
2 = O O
Q <
b — v =z
Q O m T =
g T x K Q
3} & >
8z 8
[e) ~o
doL 82 % 2
O T~ #H o
g g
— 2,
Q g o= 0
s e >
58 5 2 AN
L O 1Lt ) e ——————————
o> £ 2 ‘ T
Mlm ¢ & . w-.lum v /& \ N <
Sa = 0O - - =]
= @ \ 2 O
J m/O Q A
w 0O
x O c (874
o = 5 = b=
© 1) 5 1%
i X o e A
7 mm & = =
~ 8§ ‘D 5
N,, : [ > n < £
& \ 7\ W G o
S NP N— \ T L % m
Y7 X ] - 3 —
= c 2 3 3
c 0
m 2 S o S
= o .~ . [
< )= g S 3 L
: ) S a = —
o o 2 <
% & 9% §
2 S 3 g =
- 3 3} £ —
o] - 5 = |
o [} = < D
: : '
e
o
5 . [N\
[ — S ey

Z'€ 'BMPS0-p0Zr-X L\ATY 6102\sBUmMRIO\Z1D Ysni4 niL-_wiayL 019-YA - IA1\sU] J0 3daQ sexa) - S\ININYINYId BINpUI\SIUaLDO\Y



*ON| BANVLINENOD SNIQTUNE "M'Y 2102 §

: SNOISIAIY
SuBaNIonE Tvno e o e L, (INVORRINH ILYAILIN) 8 IVa_TON]| o
STVIIa WOVHISY N elo] w9
LBLE'6S9°ELE FON SUoUg S TUS _ONILYINOUYY 0300Y] #1/20/1 [ L ||| ol 3.
S66EE 14 OSHIDA 0SZ Xo8 'O'd \Sw AN8W3SSY ¥O [8vd ['SI7| FUNIdvo Nid TWovalSy 3N 00v| 61/5/5 [ 2 | |5 AR
"ONI ‘SLNVLINSNOD ONIaUNG @. S41| SOIOHS3¥HL T¥NOLLIOGY 03aav| 81/s0/6| £ || B g | 4_
3000 2¥1/061 810Z 0L 3ivaddn Ry &|&|¢ =
SZIYOLF ‘Td SVXAL VANAN3 S41 ® _NOIJO ,8Woijuoisny, aavleL/BL/ii| ¥ |wld gly|3 m
‘H'd IPRUYDS 4 Uopukl :Ag petpdesd sjusewnooq 110Nao0yd SI81815|5% 5
(%}
2
; 0.9 =
& RS 1723 T8}
Fnl E2LROL ...?m w 2
5 AR S L LT T PP Yaaae —
5.LQINHOS 4 NOANAT & 8w Z
2y LRI A S = M O e,
&« \Wﬁ , aa < S =
o ...,. st o A
RN Y WOLLO§ &
WL ¢ >
u.f#fim))?)‘ ..ml
T a
; =R X
i 1 ol D
]
x
5
P ]
2 2
£ F
(X ] = F
3 &
* =<
£€0 l.v_ Tt R
[m) -
2 o 23
e 2 < = 2
= & T =
<C m o =~ =5 >
Q > Ojw iy 71 ]
o pat D5 << @D
~ @] Wi~ =
ES 5 Q : =) o
i nld o in — a
[+'4 o O~ [} <
9 £ 2
g z =\ <
o) 2 O]
X x <
O 3 P
M I S—— W\'ﬂu
2
Z
. =
= v 0O
3 5 0 =
— z o <
[24 = -
LLJ| o < -
Z|Z TN
< m & P!
o= 5 4
x| Z 2 =
—| L &
o2
[==]
:W-O IIL “‘Il
T d
©,
T
Q
i J, 4
=+ M~ « —
u. —
oz A <
o Q
ey <
w3 » N‘ o’
L =a / % % =
i 3 o Q 3 < <C
& > 3* O S G
30 g* D
a.
o E..“ — :WQ.N R
¥z g —
a. i > )
o o 0 <
= =
& LLI
& =z
>
o) <C
S O
Ty 2 o
o~ [RE]
%o 5 = o o
5O = =2
~a 25 T
o O 30 L
% o o & —
e &% <
- 3 =
2 5
=
== =

T 'BMP'S0-70Zr-XL\ATY 6102\SBUIMeIGNZ1D ysni4 niL-euuay) 019-HA - 1L\sul Jo 1daq sexal - g\LNINVINY¥Id einpuI\sIuaID\y



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-610 Therma-Tru Flush GLZ\Drawings\2019 REV\TX-4204-05.dwg, 5.2

[V

— 175" —=

EXTERIOR

402

HINGE STILE
(WOOD)
36'MAX.
PANEL WIDTH
23.75" MAX
D.L.O. WIDTH 2
5
/
J
/
o)
[ —
o _Z
8o 39 X 1)
X7 \8/
=g &9 R
2% & A AN
x
J
Vi
/
>

THERMA TRU - Flush Glazed
Door Panel
(fiberglass)

*x }
11 J J1 \\ rr'
INTERIOR
LATCH STILE
(LvL)

/"1 \ HORIZONTAL CROSS SECTION

&/

SEE HARDWARE
TABLE

9/16" GLASS
BITE

EXTERIOR

2\ 1,

11/16" THK. GLASS

1/8" TEMPERED
GLASS

& X ARSPACE

(075" MIN.) \ _i

1.75°
TOP RAIL \
(COMP.) ™ I : 7
T
&
FIBERGLASS SKIN L =

//
{7

//
//

EXTERIOR |} ||  INTERIOR

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.8197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:

(%)
=
h o)
L=
s | S8
o o
> [ &)
2 %x
aum
B o
Olu
.. S
5 (=}
[ 83
>}
o
o
v
o
] w %] >
';lL 5 piisa]

INTERIOR

T 1/8" TEMPERED

GLASS
ALUMINUM SPACER

Q'SO SEALANT

GLAZING DETAIL

LATCH: KWIKSET SIGNATURE SERIES {991)
DEADBOLT: KWIKSET SIGNATURE SERIES {?80/985)

FOAM CORE
(POLYURETHANE - ] R/

1.9 PCF MIN.)

BOTIOM RAIL

(comp) N\

/" 2"\ VERTICAL CROSS SECTION

0.94"

UPDATE TO 2018 IBC/IRC_CODE
REVISIONS

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS| PART OR ASSEMBLY:

9/05/18 |ADDED ADDITIONAL THRESHOLDS
1/07/14 |ADDED ARTICULATING SILL

11/18/19|ADD_"FusionFrame” OPTION &

N}~

4
3

NO.I DATE

oaTE: 8/07/12

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

&/

DRAWING NO.:
TX—4205

sHEET 5 oF 8

@ 2012 R.W. BUILDING DONSULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-610 Therma-Tru Flush GLZ\Drawings\2019 REV\TX-4204-05.dwg, 6.2

2X FRAMING T y
2N/ 3\ 2X FRAMING P T u,,
>=0.42 (G >=0.42) SR TIN o
E 6/ (em=o — DRYWALL — — PRINAL | 203 88 fu
o \I< i \A 5;‘\‘{"' iz Ex 2 ud
EXT.SHEATHING  W||s EXT. SHEATHING o AT NI wt o S Ek
L S . et [ g
/ / 4714 f : (‘%’;\L’;}.‘ : é § 8% % 8 g %g
/ / / C { bcam, 191 57 HEQ pE
/ / | - T
- - [ o
/ / b _ #10X2-1/2" PFH , Mradand s B88° g8
i) -1~ WOOD SCREW 3 932 4k
Y o ¥ 4 FRL e}
1/4" MAX. 1 | | -
| SHIM SPACE\' 1 VN T~ #10X 3" PFH £ mg §§
in Z n
SBE 4 MAx, | WOOD SCREW PR SE
- E
SHIM SPACE i i : 4
X X = a0 8
f DOOR PANEL
o DOOR PANEL
@ H = ™~ HEAD: PINE N HEAD: "FusionFrame" (1-PIECE) 2
© S
ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP EQ
(QEBD/PE 450) (QEBD/PE 650) - Lﬁ%
/ / EXTERIOR N INTERIOR EXTERIOR N INTERIOR g |3 Y
i A 5|3 &3
/ / "2\ VERTICAL CROSS SECTION ("3 ™\ VERTICAL CROSS SECTION 7 S
/ \_8_/ Outswing shown - inswing also approved \_6_/ Outswing shown - inswing also approved § » §
8 =
[1'4 <C
0. Q.
0.15" A
1/4" MAX. e e CSINK 1/4" MAX. —
SHIM SPACE P, o ) SHIMSPACE  ExT. SHEATHING SEE
CORNER PADS EXT. SHEATHING JAMB: Fusionframe 3CIEE
(1 OR 2-PIECE) zIRI2(3|
(TYP.) JAMB: PINE Y A =Sz
- 075 o075 e 40 X 2-1/2"PFH ULTIMATE HURRICANE ASIRAGAL ~ #10 X 2-1/2" PFH e ———————— SBEL|e 2
/ ULTIMATE MULTIPOINT ASTRAGAL N SINIBII3] 2
LlslElnlpl L
COMPOSITE X Fffg""zG ENDURA WEATHERSTRIP 2XFRAMING | |8 NENERE
\ SNAP-ON (G>=0.42) ENDURA WEATHERSTRIP (QEBD/PE 650) (G>=042) | |ZIFZ
A CAP (QEBD/PE 650) DOOR PANEL ~IRIEI2S
\ alRig|ala
< || <€
3 2| lojn|e
1wy S Rw(E
i '—% _ L N LU TR Y b }\b&
S 2 z 2 NN REERNE
=N » —
Lo N - iy = Z
0 / :
DJ DRYWALL/ / \ #10X 2-1/2" PFH ( DRYWALL 12 1/07/12
#8 X 2-1/2" PFH #8 X 1" PFH SMS LATCH WOOD SCREW ~ #8X 1" PFH SMS #8 X 2-1/2" PFH scale:  N.T.S.
L T ’ REW STRIKE PLATE  #8 X 1" PFH WOOD SCREW owe. BY: UK
' #8 X 3/4" PFH SMS WOOD SCREW #8 X 3/4" PFH SMS S
DRAWING NO.:
JAME,QEEAD Jf;fjg;ﬁ,*;ﬁg!) ..Fusw—fﬁ";ffme.. / 1"\ HORIZONTAL CROSS SECTION e 205
Inswing shown - Qutswing also approved
(1-PIECE) (2-PIECE] \8/ Inswing g asoapp s 6 or B

© 2012 R.W. BUILDING DONSULTANTS INC.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-610 Therma-Tru Flush GLZ\Drawings\2019 REW\TX-4204-05.dwg, 7.2

I\ \\ Ly, u,
INTERIOR EXTERIOR INTERIOR EXTERIOR o by Zzz 5 N
DOOR PANEL e DOOR PANEL HADXY NP
e DOOR PANEL WEATHERSTRIP — — ‘ T WgY EXx g W
ENDURA (QEBD/PE 650)  INTERIOR EXTERIOR , F NI b Sy ¢8 BT
ENDURA / P P2 e 27, 2
coomaer _Bois T NN T § NP
— e, : : < [+] o4 P
/1? / (DBK-ZAC) QQQ (QEBD/PE 650) G, i § X }k §F Ez8 8P
K4 reei & Lot ]
\\( g V15 e 3o {f
W danes™ 5 gm® 83
= DOOR N
] PANEL ?OZ8, 5y
I~ I  ~—~—T< 2 34800
[ ﬁ £ add Zk
) - 3 § ng) E
=4
9
: d
% & & % Bl
~ 8
#10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR 2
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 2
/ 1"\ VERTICAL CROSS SECTION / 2"\ VERTICAL CROSS SECTION /~3 "\ VERTICAL CROSS SECTION ﬂ;\ VERTICAL CROSS SECTION 3 &
Inswing Adjustable Threshold Inswing Articulating Threshold Outswing Bump Threshold uiswing Bump fhrésno x w0
w 9 Ad \7/ w/ PingCopfure 9 W U 2 > &
P o &
i = ©
o <
I <l O
= | % 5 x >
S « 3 - Y
A= | | i | \ & &
| 456" | | 456 | ! 4.56' | 4.56' ! 456" | W
] S
1 )INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3 )INSWING ADJUSTABLE THRESHOLD 4 ) INSWING ADJUSTABLE THRESHOLD 5 ) INSWING ADJUSTABLE THRESHOLD o
ZAIL4565 2 ZAI4565FN ZAILAA4565 ZAIAA4S65FN LAI4565RDS 8 " %
MAX. DESIGN PRESSURE = +40 PSF 3 13l
i
SN
o |0l
o|m| T )
f i A e
in { Eq = ot &! Sl O
2 Ao - <~ = sRI5IE| 2
| ARV I AR thilis
| | | o ) | | 5l2l= (%
| 4.56" ; | 456" | 1 4.56 ! 4.56" ! e s _—_—.] Fzlel2le
) ) ) ) i ) ’ ’ : : ol |oinla
5 \INSWING ARTICULATING THRESHOLD 7" INSWING ARTICULATING THRESHOLD g ) INSWING ARTICULATING THRESHOLD o \INSWING ARTICULATING THRESHOLD 10)INSWING ARTICULATING THRESHOLD 3/>(9|2(2
IACL4565 IAC4565FN ZIACLAA4565 IACAA4565FN IACA4565RDS ol lol,l«
MAX. DESIGN PRESSURE = +35 PSF NENNNE
N SBINE
} = | I oIS
) )
5. @ e D B D ‘ DATE: 8/07/12
= | Al = = scAlE: N.T.S.
i i 1 =) owe. BY:  JK
. BY: LFS
- 458" ! Y ————»J | 456" ! | 456" ! R
17) OUTSWING THRESHOLD 12) QUISWING THRESHOLD 13 QUISWING THRESHOLD 14)-CUTSWING THRESHOLD TX—4205
Z0BLA5 IOB4565FN ZOB4565RDS FOBA566 —
SHEET _7 OF _8

© 2012 R.W. BUILDING CONSULTANTS ING.




R:\Clients\Endura PERMANENT\B - Texas Dept of ins\TD! - DR-610 Therma-Tru Flush GLZ\Drawings\2019 REV\TX-4204-05.dwg, 8.2

- HEAD ANCHORS: NNy, :_3 "
g w Z #10 X 2-1/2" WOOD SCREW (PINE JAMB) e o 5 § “.g ”
g0 2ZX FRAMING #10 X 3" WOOD SCREW (1-PIECE JAMB) #10 X 2.5" PFH WS e i E iR 22 o Ed
o (BY OTHERS) ; P Zoe iF EX g U3
g =0 N GE:‘ o 6 5‘{\:' .:0 8 i OB o~
NTo ] (TYP.) / £ o -]
e ~ [‘ (TYPJ & K re T 2;02 : jus: v ;& 5 u’*
| = o 4 R ) B i & £a2 2
] |~ SEEHINGE I R ] Y 191 .. 5 538 g
T FH DETAIL 1 I \- —i T ASTRAGAL STRIKE g wi% £ 2o5 b
. DETALL 1 S DETAIL1  PLATE @ HEAD JAMB Mandoe & oo i 4
: “E P 5o
- § 3568 Bu
& Do 8 6
. . N | E— o
&y l I | JAMB ANCHORS: 2 § e
S ﬂl ‘J #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) \}« #8 X 2-1/2" PEH WS £ es) ég
N #10 X 3" WOOD SCREW {1-PIECE JAMB) 3
[ o 8
= . o ® L1 [®~ <
R x 4 #8 X 1" PFH Wséi, 1o I = #8x3/4' PFH Ws
w -
.\.\__ 1 11
B SEE HINGE t | " 4'X 4" HINGE o
DETAIL 2 v ®
& 2
- — ————T— HINGE DETAIL 1 2 1 S
= o <
g =
Y S
=
| 5 #8 X 2-1/2" PFH WS 3 2
EES/ * DETAIL 2, 3 OR 4 & v : o &
2%
- : i ||
1] S ~ l #8 X 1"PFH Wsé.:. 1] §>~ #8 X 3/4" PFH WS g %
% SILL ANCHORS: [ 4'X4"HINGE o Jolelel-
HINGE JAMB 4" (TYP.) #10 X 2-1/2" PFH WOOD SCREW A\ ] I b ] 2
#P) = 127 o (ryp) > /4 X 2-3/4" ELCO OR A, |E
FLOOR SUBSTRATE MATERIAL ¢ ) {TW CONCRETE SCREW HINGE DETAIL 2 & 3 g5 2
CONCRETE (MIN. 3000 PSI) 20|28
WOOD (G >=042) FRAME ANCHORING EN(D|z|3
XX 3|20 o
JAMB NOTES: . ool IZIE| 1B
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. NOTE: This anchor required for D.P. > 40 PSF. E Q = gs |2
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. u‘:: o g E 3 é
S) Q
CONCRETE ANCHOR NOTES: § 1 § = §
1. Concrete anchor locations at the corners may be adjusted to maintain the min. 3/16" X 2-3/4" ITW CONCRETE SCREW I =S a Y a
) gdge d::stcmce?7 tolmort'ar joinfs} e MAX. ON CENTERA b adiusied | : . 4 OR- . ASTRAGAL PIN CAPTURE 5 %Q W §
. Concrete anchor locations noted as . " must be adjusted fo " QR |aja
mainfain the min. edge distance to mortar joints, additional concrete anchors #8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP) ; : = :
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. ASTRAGAL STRIKE N N 3 ¥
b I IS R B
= “!if\,i = ® d ® .2 » +| o= %
w “ " u 1-1/2" = = = =4 oate: 8/07/12
TAPCON® | 3/18 1-3/4 3 -
i 1/4 1-3/4 1-1/2 4 SCALE:  N.T.S.
® " - n - il "
TAPCON 1/2" DIA. HOLE owe. B JK
Eco I . V3 - p _DETAIL 2 DETAIL2 DETAIL 3 chc s LFS
ULTRACON Outswing Inswing Inswing DRAWING NG
WOOD SCREW INSTALLATION NOTES: ’ NOTE: MAX. D.P. = +/- 45 PSF TX—4205
1. Mainfain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FOR DETAIL 3
wood screws to prevent the splitting of wood. SHEET _§ oF _ 8

@ 2012 R.W. BUILDING DONSULTANTS INC.



